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Thi sinh dwec tham khdo tai li¢u: Co [] Khéng
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I1. Cac yéu cau caa dé thi nhim dap wng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)
Trong so Ly dir
. CLO .
Ky Hinh trong _ | li¢udo
hiéu Ni dung CLO thic | yspn | Cauhei | Diémso | lwdng
danh A thi so toi da murc
CLO . phan
912 | ganh gia dat
(%) PLO/PI
) (2) 3) 4) 5) (6) (1)
Phan loai dir liéu va chi 0.4d/cau
phi trong doanh nghiép, 2 . (tong
CLO1 | phuc vu cho qué trinh ra NT:.‘? 25% Caj éég diém6 | PI3.2
quyét dinh cta nha quan ghiem e cau la
Iy 2.44)
0.4d/cau
. L A ton
Ap dung quy trinh quan TFE}C 20% Cau 7,8,9, d(iémQS
tri chi phi phuc vu cho Nghiém 10,11 A
CLOZ | iac tinh gia thanh va ra o @:? P13.2
uyét dinh cua to chic. - :
AEyEL cinh cuato ehd i Caull; | 0.75d
Tu luan 15% .
Caul.? 0.75d
Tinh gia thanh mot cach | Trac . Cau 0.4d/cau
CLO3 T 4oc Iap va thanh thao Nghiém 20% 12,13,14 (tong PI8.1
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15 diém 4
cau la
1.6d)

Cau 2 1d
> A 0
Tu luan 15% Cau 3 1d

Van dung tu duy phan
bién vao tu van ra quyét
dinh kinh doanh cho
doanh nghiép.

CLO4 Ty luan 5% Céau 1.3 0.5d

PI15.1

I11. Noi dung cau héi thi '

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Caul

Which of the following statements is direct cost?

A. Wood used to make a chair at company makes chairs and tables
B. The salary of the sales director of the company

C. Rental of the finished goods warehouse

D. Costs associated with a marketing campaign

ANSWER: A

Céu 2

Which of the following cost is classified as a period cost
A. Selling and distribution cost

B. Workers salary

C. Rental of the factory

D. Material cost

ANSWER: A

Cau 3:

Which of the following cost would be classed as indirect labour cost?
(2). Factory supervisor

(2). Factory cleaning staff

(3). Plasterers in a building company

(4). A consultant in a firm of tax consultants
A. (1) and (2)

B. (2) and (4)

C. (1), (2),and (3)

D. (1) and (3)

ANSWER: A

Cau 4:
A company has recorded the following data in the two most recent periods.
Total costs of production Volume of production

$(Y) Units (X)
15,000 500
22,000 1,000

What is the best estimate of the company's fixed costs per period?
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A. $8,000

B. $14

C. $7,000

D. $500
ANSWER: A

Cau 5:
A company has recorded the following data in the two most recent periods.
Total costs of production Volume of production

$ Units

15,000 300
19,500 800
22,000 1,000

Using the high-low method what is the variable cost per unit?

A. $10

B. $0.1

C. $12,000

D. $700

ANSWER: A

Cau 6:

A company has recorded the following data in the two most recent periods.
Total costs of production Volume of production

$ Units

15,000 300
19,500 800
22,000 1,000

Using the high-low method what is the fixed costs per period?

A. $12,000

B. $0.1

C. $1,200

D. $7,000

ANSWER: A

Céau7

There are 32,500 units of X on order with the suppliers and 28,000 units outstanding on
existing customers' orders. The materials in inventory is 15,000 units

What is the free inventory?

A. $19,500

B. $10,500

C. $4,500

D. $13,000

ANSWER: A

Céau 8

Data relating to a particular stores item are as follows:
Average daily usage 280 units
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Maximum daily usage 450 units
Minimum daily usage 150 units
Lead time for replenishment of inventory 10 to 15 days
Reorder quantity 5,000 units

What is the reorder level (in units) which avoids stockouts (running out of inventory)?
A. 6,750 units

B. 11,750 units

C. 4,500 units

D. 1,500 units

ANSWER: A

Cau9

The following data relates to component A:
Ordering costs $31.25 per order
Inventory holding costs ~ $2.5 per unit per annum
Annual demand 400 units

What is the economic order quantity (to the nearest whole unit)?
A. 100 units

B. 10,000 units

C. 400 units

D. 500 units

ANSWER: A

Cau 10

A company had 40 direct production employees at the beginning of last year and 30 direct
production employees at the end of the year. During the year, a total of 17 direct production
employees had left the company to work for a local competitor. What is the labour turnover
rate for last year?

A. 20%

B. 200% units

C.0.2%

D. 34%

ANSWER: A

Céu 11

The following data is available for a paint department for the latest period.
Budgeted production overhead  $180,000
Actual production overhead $200,000
Budgeted machine hours 50,000
Actual machine hours 55,000

Which of the following statements is correct?

A. Overhead was $2,000 under absorbed

B. Overhead was $2,000 over absorbed

C. Overhead was $20,000 over absorbed

D. There was no under or over absorption of overhead

ANSWER: A

Cau 12
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In a period where opening inventories were 8,000 units and closing inventories were 10,000
units, a firm had a profit of $120,000 using absorption costing. If the fixed overhead
absorption rate was $20 per unit, the profit using marginal costing would be which of the
following?

A. $80,000

B. $120,000

C. $160,000

D. Impossible to calculate without more information

ANSWER: A

Cau 13

A company had opening inventory of 16,500 units and closing inventory of 15,000 units.
Profits based on marginal costing were $325,000 and on absorption costing were $280,000.
What is the fixed overhead absorption rate per unit?

A. $30

B. $18.67

C. $19.69

D. $20

ANSWER: A

Céu 14

A company uses process costing to establish the cost per unit of its output.

The following information was available for the last month:

Input units 12,000

Output units 11,900

Opening inventory 400 units, 100% complete for materials and 60% complete for conversion
costs

Closing inventory 500 units, 100% complete for materials and 40% complete for conversion
costs

The company uses the weighted average method of valuing inventory.

What were the equivalent units for conversion costs?

A. 12,100 units

B. 11,820 units

C. 11,700 units

D. 11,850 units

ANSWER: A

Céu 15

Last year, DTL carried excess baggage of 270,000 kg over a distance of 5,000 km at a cost
of 4,050,000 for the extra fuel.

What is the cost per kg-km?

A. $0.003 per kg-km

B. $2.00 per kg-km

C. $333.33 per kg-km

D. $0.0002 per kg-km

ANSWER: A

PHAN TU LUAN (3 cau- 4 diém)
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Cau héi 1: (2 diém)
Data relating to a particular stores item are as follows:

Average daily usage 150 per day
Maximum daily usage 250 per day
Minimum daily usage 100 per day
Lead time 7-14 days

Reorder quantity (EOQ) 1,500 units

1. What is the reorder level (in units) which avoids stockouts (running out of
inventory)? (0.75d)

2. What is the maximum inventory level? (0.75@d)

3. When placing an order, what quantity should the company order to minimize costs?
(0.5d)

Cau héi 2: (1 diém)
The overhead absorption rate for product A is $5 per machine hour. Each unit of A requires
2 machine
hours. Inventories of product A last period were:
Units
Opening inventory 3,000
Closing inventory 3,400
Compared with the marginal costing profit for the period, the absorption costing profit for
product A will be which of the following?

Cau héi 3: (1 diém)
A company manufactures two joint products, X and Y, in a common process. Data for June
are as follows.

$
Raw material input 350,000
Conversion costs 90,000

Production Sales Sales price
Units Units  $ per unit
X 6,000 5,000 5
Y 9,000 7,000 10

If costs are apportioned between joint products on a physical unit basis, what was the total
cost of product X production in June?
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PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi Néi dung dap an Thang | Ghi
diém | chd
l. Triic nghiém 6.0
Caul-15 0.4d/
cau
Il. Tw luan 4.0
Céaul 1.1 The reorder level (in units)= maximum | 0.75d
level * maximum lead time
=250*14=3,500
1.2 The maximum inventory level=reorder | 0.75d
level + reorder quantity — (min.usage x
min. lead time) = 3,500+1,500-
(100*7)=4,300
1.3 The company should order a quantity 0.5d
equal to the EOQ quantity =1,500 units
Céau 2 OAR= 5*2= 10 $/units 1d
Opening inventory < closing inventory
Compared with the marginal costing profit
for the period, the absorption costing profit
for product T will be higher :
OAR*(Closing- opening) = 10*(3,400-
3,000)=4,000
Cau 3 Total cost = Raw material input + 1d
Conversion costs = 350,000+90,000=
440,000
If costs are apportioned between joint
products on a physical unit basis, the total
cost of product X production in June :
440,000 *6,000/(6,000+9,000) =176,000
piém tong | 10.0

Ngudi duyét dé

TS. Lé Phan Thanh Hoa

TP. Hé Chi Minh, ngay 09 thang 03 ndm 2024

Giang vién ra de
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